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Last time, we handed back 2.1 and the first page of yesterday's notes gives the points
breakdown, for those who are interested.

Today, a couple announcements:

Section 2.3 II: OMIT #55

Section 2.4: Change the Assignment to the following:

#s1,11, 15, 16*, 29, 30,41, 42 is bonus

* No picture for #16 is needed, but draw one for #15.

Our focus in 2.4 is getting the main idea, and seeing how it might come up in the real world,

and, mechanically speaking, be able to do epsilon-delta proofs for LINEAR and QUADRATIC
functions.



Standard limits that will come up repeatedly are of the form

]jmf(ﬁhé—f(@

h—=10

for example #s 17, 23, 28, 30 (even though it might not look like it).
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(2] THEOREM If {(x} = g(x) when x is near a (except possibly at a) and the limits
of f and g both exist as x approaches a, then

E==q

l lim f(x) < lim g(x)

-—

The above is sometimes referred to as a "bounded convergence" result.
One provides a ceiling for the other. This can be handy if you don't have a
handle on £, but you do know that it's bounded by g and that g has a limit.
This doesn't mean f'(x) we know what the limit is - only that its limit is no
bigger than the limit of g(x) as x approaches a.

[3] THE SQUEEZE THEOREM If f(x) = g(x) < h(x) when x is near a (except
possibly at @) and

lim f(x) = 11T:l‘l hix) = L

Ir—a X

then lim glx) =L

Bounded above and below REALLY lets you SAY something about the
limit as x approaches a of g.
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What can be said about lll‘ré x?sin—
x— X

#33 1s very similar to this example.
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36, If 2x = g(x) = x* — x? + 2 for all x, evaluate lim, .., g(x).

I’; (1') =2 000 j*w 5(8) =Q.’ ‘7
Y= §

X=>)
[v'-.. (uq-g“‘a-ﬂ =2 +to gf"m‘a‘ﬂ"‘m
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39-44 Find the limit, if it exists. If the limit does not exist,

explain why.
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